First Semester 3 Year LL.B. Examination, January 2010 ( l
CONTRACT ~1 (Course - 1)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer all 5 Questions.

2. One essay type and one short note question or problem
from each unit have to be attempted, which is referred as
part (a) and (b) in all the units.

3. Figures to the right indicate marks.

4. Answers should be written either in English or Kannada

completely.
UNIT -1
Q. No. 1.(a) “All contracts are agreements but all agreements are not
contracts” Comment, Marks : 15
"LEOENVYE St ¢od ftnden) wEomnvey DAL,
OR/eg=

Explain consideration with reference to leading cases. State the

differences between Indian and English law. .
o APFLEey, FEomTivRclnl JEOXD. tor] T tRTdech |
BRI DHIALT | Be9D.

{(b) Write a short note on *Privity of Contract’. Marks : 5 |
"wHeCEY, ol aonndt wied oo wded ook,
OR/uszmm

Write short note on general and specific offers.
mang @Y ford Imad e opo wEn ook,
UNIT - 11

Q. No. 2.(a) Who are competent to contract ? What is the legal position of
agreements made by an incompetent person in India and
England ? Marks: 15 ‘
wm [RZw cdnd NG 7 PRUE DY VonedIY
uﬁﬁxﬁroow SRBORIE 00T EEATWG mgid-ai.«"
OR/eg=
Define consent. Discuss when consent is said to be free.
‘R odonly SR AA0, alREen REHBaND SNEERNCIZE SoLEEY
33T AL,
P.T.O.




(b) Raju, a shopkeeper, supplied the wife and children of Rahu. a
lunatic with necessaries suitable to their condition in life.
Raju intends to recover price of the goods from Ramu.
Adyisc him, Marks : 5
ToRs), 08 LoNATT Tom, Sxdyi@rolidNny Bods aid) Sugen
oF0 BeITT MIPSIRTY, VRTINS I TYY NOPNIRY
SROUTRAMS. Tow) ¢ RO PP ToSRARNE TR
WoBATRS, eERn oS dea

OR/eg=

A, a teacher, purchased a brand new car from B, who is his
student, for Rs. 1000/- though the actual value is Rs, 10 lakh.
Now, B wants to rescind the contract and get back the car.
Decide.

A, aow 3¢8, 35 AmHFIRT B A0z, 10 v¥gs. B 7T,
da. 10008 Doedatbm, SaE, Bod 2TomR) TEwman 3 BT
oy Tdon Lol HSRFIN0,

UNIT - 111

Q. No. 3. (a) Discuss the theory of frustration with the help of decided cases. Marks : IS
dsnradion ZEdnnvecdn yind Ao SR Wiran,
OR/eg=
What do you mean by ‘Anticipatory Breach of Contract’ ?
What are the effects and remedies available to the parties to the
contract ?
RO woeopd Kedded 7 RO LugsPlaRTin ST TOmE
e Jemcon vyl S SoTUNTE 7




e
(b) Hubli-Dharwad Municipal Corporation (H.D.M.C.) leased out
certain autorikshaw stands to X for Rs, 50,000/-. But no
autorikshaw owner came forward to use the stand through out
the leased period and X did not realize anything. X, intends to
get back his 50,000/ from H.D.M.C. Advise. Marks ; 5
H.DM.C. oo sinetm popessia X wowadn da. 50,000/- muics
RecdnRdeons, sdo rerdcd ucdg SuRonmrwsdn etlacon,
WHEODL, LAHEER BE NITAIANDE0Y 'adbod X3 o
FAcna; Ad ddonenny, X, B wed de. 50,000/-mvs;
H.DM.C oo shde TdoD weliansl Ae® Red.
OR/ueg=
Ramesh has agreed to sell his Motor car to Suresh for rupees
two lukhs. However, the Motor car was destroyed by fire before
Ramesh could sell the car to Suresh. Suresh files a suit against
Ramesh for breach of conm@ecidc
SelorTh 2 deans’ RO IR 20 oF demvoner IRt
LathEF. wud odedD smdﬁgﬁd@ﬂ md.s Seude ot
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UNIT =1V

Q. No. 4. (a) Discuss the remedies available fbr breach of contract. Marks : 15
o susopHoInmmn e HTR TOTONVA WhirAd:
OR/eg=
Explain the terms “Penalty’ and ‘Liquidated damages’. Whether
the court has power to increase or decrease the amount fixed
by the parties ?
‘dod! ) ‘e FENE WoeRs ' IVES SS0R0. TWOD
Ardizawt Znn Ss3uod) sanvch BFuEdt ogm
sedtersuabde ?




(b) A contracts 1o pay a sum of money to B on a specified day.

Q. No. 5.(a)

(b)

A does not pay the amount on that day, as a consequences
of non payment. B is totally ruined. Advise remedies
available to B.
Lode A0FH LaTedd Achn Br dndemi@immn wToT
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nEdes e,

OR/eg=
Ram has ordered sweets from sweet mart owner however, the
servant of sweet mart owner gives the packet containing sweets
by mistake to ‘Gopal’, ‘Gopal’ eats those sweets with his wife
and children. Sweet mart owner files a suit against *Gopal' to
recover the price. Decide.
T Al S0BTWRD TRThS wona SRt Ak SotnvE) ) RGO
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UNIT -V

Explain the provision of recovery of movable and immovable

property.

w0 S3) 40 HEonivab S0e Tdotodd hE RebIIMYE LS00,
OR/eg

What is Specific performance ? When contracts are specifically
enforceable ?

«Dru -LNFSR Qocrdeds 7 ans udodn’#‘s‘a ’Jar-rf
dddmmmwad.?

Write note on Government contracts.
Romon wacmne e uErd W,
OR/eg=
Write note on declaratory decree.
Sersdd Bk Soed uidan,

Marks : 5

Marks : 15

Marks : 5




